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= = R i35 D\ - 7 AN o = = AN - = T AN = | =
i 100kN/m#%#BZ % - -~ — —|3mEEBZD - ~ — — —| 100kN/mi%#BZ % — -~ — —|3m%EEZD - ~ — - -
ZnLs 1.00| 0.00 ~ 473 58.94 | #nkist | 000 ~ 0.00 | 1.65 8.36 ZnLs 1.00 ] 500 ~ 5.00 58.94 | Z#nli4t | 500 ~ 500 1.65 8.36
9 100kN/m#%#BZ % - -~ — —|3mEEBZD - ~ — — —| 100kN/mi%#B 2% — -~ — —|3mZEEZD - ~ — - -
ZnLs 1.00| 000 ~ 7.12 9052 | #hList | 000 ~ 0.00]| 1.77 8.93 ZnLs 1.00 ] 500 ~ 8.97 9052 | #hList | 500 ~ 897 | 1.77 8.93
3 100kN/m#%#E2%| 1.00( 0.00 ~ 0.52 107.75 |3m%E#B 2% - ~ — — —| 100kN/m#%#8=2%| 1.00 [11.32 ~ 13.15 107.75 |3m%E{BZ % - ~ — — -
ZnLs 1.00| 052 ~ 8.31 100.00 | #hlist | 000 ~ 831 | 2.01 10.18 ZnLs 1.00 ] 500 ~ 11.32 100.00 | #hlist | 5.00 ~ 13.15 | 2.01 10.18
4 100kN/m#%#BZ % - -~ — —|3mEEBZD - ~ — — — | 100kN/mi%#BZ % — -~ — —|3m%EEZD - ~ — - -
ZnLs 1.00| 0.00 ~ 7.58 97.04 | #hList | 000 ~ 758 1.98 9.98 ZnLs 1.00 ] 500 ~ 11.15 97.04 | #hList | 500 ~ 1115 1.98 9.98
5 100kN/m#%#BZ % - -~ — —|3mEEBZD - ~ — — —| 100kN/mi%#BZ % — -~ — —|3m%EEZD - ~ — - -
ZnLs 1.00| 000 ~ 7.18 9132 | #hLis | 000 ~ 000 1.74 8.82 ZnLs 1.00] 500 ~ 9.10 9132 | #hList | 500 ~ 9.10 | 1.74 8.82
6 100kN/m#%#BZ % - -~ — —|3mEEBZD - ~ — — —| 100kN/mi%#BZ % — -~ — —|3mZEEZD - ~ — - -
ZnLs 1.00| 0.00 ~ 475 59.22 | #hllst | 000 ~ 0.00 | 1.67 8.46 ZnLs 1.00 ] 500 ~ 5.00 59.22 | #hllst | 500 ~ 500 | 1.67 8.46
7 100kN/m#%#BZ % - -~ — —|3mEEBZD - ~ — — —| 100kN/mi%#BZ % — -~ — —|3mZEEZD - ~ — - -
ZnLs 1.00 | 0.00 ~ 5.07 63.13 | Zxllst | 000 ~ 0.00 | 1.71 8.64 ZnLs 1.00 ] 500 ~ 540 63.13 | Z#nLll4t | 500 ~ 540 1.71 8.64
8 100kN/m#%#E%2%| 1.00( 0.00 ~ 0.66 109.75 |3m%E#B %% -~ — — —| 100kN/mi#%#8=2%| 1.00 [10.85 ~ 12.94 109.75 |3m%E#B %% - ~ — — -
ZnLs 1.00| 066 ~ 844 100.00 | #hlist | 000 ~ 8.44 | 2.07 10.47 ZnLs 1.00 ] 500 ~ 10.85 100.00 | Znlist | 5.00 ~ 1294 | 2.07 10.47
9 100kN/m#%#E=2%| 1.00( 0.00 ~ 1.03 11550 |3m%E{B %% - ~ — — —| 100kN/mi#%#8=2%| 1.00 [10.57 ~ 13.66 11550 |3m%E#B %% - ~ — — -
ZnLs 1.00| 1.03 ~ 8.82 100.00 | #1list | 000 ~ 882 2.23 11.29 ZnLs 1.00 | 5.00 ~ 10.57 100.00 | Z#hlist | 5.00 ~ 13.66 | 2.23 11.29
10 100kN/m#%#BZ % - -~ — —|3mEEBZD - ~ — — —| 100kN/mi#%#BZ % — -~ — —|3mZEEZD - ~ — - -
ZnLs 1.00| 000 ~ 574 71.71 | £hiist | 000 ~ 0.00 | 1.66 8.41 ZnLs 1.00 ] 500 ~ 6.49 7171 | Zhiist | 500 ~ 649 | 1.66 8.41
100kN/m#%#BZ % ~ ImEEZD ~ 100kN/m#%#BZ % ~ ImEBZD ~
FhLsn ~ Zhs ~ FhLsn ~ ZhLs ~
100kN/m#%#BZ % ~ ImEEZD ~ 100kN/m#%#BZ % ~ ImEBZD ~
FhLsn ~ ZhLs ~ FhLsn ~ ZhLs ~
100kN/m#%#BZ % ~ ImEEZD ~ 100kN/m#%#BZ % ~ ImEBZD ~
FhLsn ~ Zhs ~ FhLsn ~ ZhLs ~
100kN/m#%#BZ % ~ ImEEZD ~ 100kN/m#%#BZ % ~ ImEBZD ~
FhLsn ~ Zhs ~ FhLsn ~ ZhLs ~
100kN/m#%#BZ % ~ ImEEZD ~ 100kN/m#%#BZ % ~ ImEBZD ~
Zh s ~ Zh LS ~ Zh s ~ Zh LS ~




